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— ~ Which of the following is Not the weakness of the propaganda theory?
(1) underestimates abilities of average people to evaluate messages
(2) overestimates the range of media effects
(3) ignores personal, social, and cultural factors that limit media effects
(4) ali of the above
(5) both 1 and 2 above

— -~ Which of the following is the implication of marketplace of ideas theory?

“

(1) induces government control

(2) does not trust in profit-motivated media

(3) assumes good content will ultimately prevail
{4) all of the above

(5) both 1 and 2 above

= ~ Symbolic annihilation implies

(1) the underrepresentation of women in media content

(2) portraying women in narrow and distorted ways

(3) an important way that the advantages of women are created
{4) all of the above

(5) both 1 and 2

In terms of the notion of sex 1ole, which of the following is a valid implication?
(1) Watching lots of television leads children to believe in traditional sex roles.
~ (2) Popular culture is one of the few legitimate avenues of women’s pleasure.
(3) Gendered identity is a kind of active negotiation. '
{4) all of the above '

{3)both 1 and 2

s

Py

Which of the following is the main goal of public service broadcasting?
(1) providing for special minorities
{2) having concein for the national culture and identity

=

(3) serving the needs of elite
(4) all of the above
(3 both1and2
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7% ~ Which of the following is the implication of media technological determinism?
(1) Social revolutions leads to communication revolutions
(2) Communication technology is fundamental to society.
(3) Each technology has no bias to particular communication forms and uses,
(4) all of the above
(5) both 1 and 2

15 ~ In terms of information society theory, an information society is characterized by
which of the following?
(1) postmoderm culture
(2) predominance of information work
(3) globalizing tendencies
(4) all of the above
(5) both I and 2

J\ - Which of the following is Not the distinctive feature of media economics?
(1) high fixed costs
(2) hybrid in respect of markets and technology
(3) media business is easy to enter
(4) all of the above
(5) both 1 and 2

71 ~ In terms of the concept of the audience as market, which of the following is a
valid implication?
{1) Members are an aggregate of individual consumers.
(2) Members are related to each other.
 (3) The formation is long-lasting.
{4) all of the above
(5) both | and 2

—+ ~ Which of the following is news selection factor?
(1) proximity to the audience of people in the news
(2) timeliness of evenis
(3) location of power
(4) all of the above
(5) both 1 and 2
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-— ~ The nature of mass mecha is bureaucratic. (4 43)
» The fundamental dynamics of media phenomena are located in the exercise of
power, in the cconomy and the soc;aily organized application of technelogy. (8

57)

~ The word ‘mass’ is itself value laden and controversial, and the term

[l

‘communication’ still has no agreed definition—although Gerbner’s ‘social
interaction through messages’ is hard to beat for succinctness. (8 43)

. AEANMEGRAXOEL—XH)
— B AP ERTHESEEA? (10%)
= RH R R AEE PAPSRA MR T HR A S S B R (5, - (20%)




Ay

“PLJ-I)’Q'E’J'L"‘ SRR R A SRR
e BTN M%a/f%f*w

SrsTx

VRTINS (5 20%)(BIEHSD ;_ﬁ})
- Fair Access (o Media $51y2

Ch & W N —

- TR R
- MEFER AR

- BEe LR

- PR ERR
- IR

~ Social Stratification FFaYS

. it E R A
- i ERE
- e R
. Lk
. e

~ Tuba Theory fEIfE

. B R = PR —message, buffer, audience
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1. The demands functions for two products depend on the prices of product 1 and

product 2, P; and P,, We can express demand functions of the two products by:
Q=15--3P, +P;, Q;=6—2P,+P;. On the other hand, each supply curve

depends on only its own price:  (;=2+P;, Q;=1+PF; Please solve for the market

equilibrium of the two products: Py, Po, Qi and (s { 1()5]\>
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(B) Bl 4T 4% ¥ (parallel(bilateracompetition) (20 ﬁ)
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